Rekenen: optellen en aftrekken
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                                25 + 18 – 6 = 


	55

	                

                        50 – 27 + 67 =
	73

	                        

                        14 + 33 + 42 =
	90

	
                               46 + 34 – 25 = 
	37

	
                        100 – 18 – 18 = 
	89

	
                         41 + 23 + 9 =


	64


Antwoord

	
	  46 + 34 – 25 = 55

	
	   41 + 23 + 9 =  73

	
	    50 – 27 + 67 = 90

	
	   25 + 18 – 6 = 37



	
	  14 + 33 + 42 = 89

	
	   100 – 18 – 18 = 64
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